A KR A Dt
NI XA
S XN

SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
AH2 & 0t 10,350,985 2,016,863 8,334,122
= 7,900,000
== 2,450,985
HAXRL X MEE(FEXX WL /RALEAL) 10,320,000 1,985,000 8,335,000
= 7,900,000
= 2,420,000
ASHe & BHAEIE = 10,320,000 1,985,000 8,335,000
= 7,900,000
=S 2,420,000
B2 XSS A= 20,000 20,000
202 04l 20,000 20,000
01 2o 20,000 20,000
OBZXN SN A=A 20,000
ASARE D184 AL XIH 15,000 15,000
308 AHXIEMSOIE 15,000 15,000
01 HAHHBSEEXS 15,000 15,000
OAPS ALY JISA! &AL X1 15,000
SAMATARIGE 95 AIY(=1) 10,270,000 1,950,000 8,320,000
= 7,900,000
= 2,370,000
403 TR SHMSAH=01H 10,270,000 1,950,000 8,320,000
= 7,900,000
s 2,370,000
01 AXISHHA =2 £ 10,270,000 1,950,000 8,320,000
O=AAMATAIRGE dF3 At 10,270,000
= 7,900,000
< 2,370,000
HZXS FQQA O WF 15,000 0 15,000
308 AtAIEHMSOIE 15,000 0 15,000
01 HAHHBHEXRS 15,000 0 15,000
OHZXS =2 ob2taIil X 15,000
AZ2S B2 A (OIEHIIE 30,985 31,883 878
=&l 30,985 31,863 N\B78
2AE2g Jl=23tl 30,985 31,863 A\B78
201 fer23y| 18,768 22,449 A\3,681
01 AtR2t2lHI 18,768 22,449 A3,681
ORAN2E A2t/ 18,768
202 04| 9,217 5,814 3,403
01 =LHOLI 9,217 5,814 3,403
OFAM2d 20 9,217
203 ¥R=4| 3,000 3,600 2600
M EA2ER=AH 3,000 3,600 2600
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